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{a) Use the factor theorem to show that g(X) is divisible by (x — 5).

(2)

(b) Hence, showing all your working, write g() as a product of three linear factors.
(a)

The finite region R is bounded by the curve with equation y= g(x) and the y-axis, andlies below the x-axis.

(© Find, using algebraic integration, the exact value of the area of R Velo
(4)

Twes poeblem involves fechy Hecvem, Vong dascsien of poly noustal's,
Oud Kewonsiing Luabo tinkegrrebe be fod orem undies a cuvre

(Ween x25 9x) = Qx19g +25 -205-10 =O Se (e-e)es a
fadw

(b) 36) o diag boy lx-=)
Qx>+ oe +t

X-5 | Axi +x> —ulx-10
oe? = lox” \

Woe> — lx
We2= 5Se

Wax -10
\unc - TO

Buk Qe oe shy fa chwises bo (dx+ 7¥2+2)
Guning glx) = (e-5 dx+7)x +2) .

© Rots as 6-3,-2 The graph lols lee
So we require to find Ke shaded area”
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